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Solutions 
 
S1. Ans.(c) 

Sol. The correct rearrangement is BDAEC; C 

 

S2. Ans.(d) 

Sol. The correct rearrangement is BDAEC; D 

 

S3. Ans.(b) 

Sol. The correct rearrangement is BDAEC; B 

 

S4. Ans.(e) 

Sol. The correct rearrangement is BDAEC; E 

 

S5. Ans.(a) 

Sol. The correct rearrangement is BDAEC; A 

 

S6. Ans.(e) 

Sol. The correct rearrangement is CADBE; E 

 

S7. Ans.(a) 

Sol. The correct rearrangement is CADBE; A 

 

S8. Ans.(c) 

Sol. The correct rearrangement is CADBE; C 

 

S9. Ans.(b) 

Sol. The correct rearrangement is CADBE; B 

 

S10. Ans.(d) 

Sol. The correct rearrangement is CADBE; D 

 

S11. Ans.(b) 

Sol. The correct rearrangement is DACEB; B 

 

S12. Ans.(a) 

Sol. The correct rearrangement is DACEB; A 

 

S13. Ans.(d) 

Sol. The correct rearrangement is DACEB; D 

 

S14. Ans.(e) 

Sol. The correct rearrangement is DACEB; E 
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S15. Ans.(c) 

Sol. The correct rearrangement is DACEB; C 

  

S16. Ans.(d) 

Sol. "by providing adequate economic and financial information publicly" is correct here. Refer first 

paragraph.  

 

S17. Ans.(b) 

Sol. Befit: be appropriate for; suit. 

 

S18. Ans.(d) 

Sol. 'Established' is grammatically and contextually correct here.  

 

S19. Ans.(a) 

Sol. Shambles: a state of total disorder. 

 

S20. Ans.(b) 

Sol. "has demonstrated over the past three years" is grammatically and contextually correct. 

 

S21. Ans.(d) 

Sol. Both (b) and (c) are correct.  

 

S22. Ans.(b) 

Sol. Bear the brunt of: To suffer the worst part of an unpleasant or problematic situation.  

 

S23. Ans.(e) 

Sol. All are correct. Refer first paragraph.  

 

S24. Ans.(d) 

Sol. "much poorer than what the official agencies tell us" is 

grammatically and contextually correct. 

 

S25. Ans.(b) 

Sol. Jolt: give a surprise or shock to (someone) in order to make them 

act or change. 
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